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Abstract

In this research thesis, we have analyzed further Ramanujan formulas and described
further possible mathematical connections with some parameters of Particle Physics

and Cosmology
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Summary

In this research thesis, we have analyzed the possible and new connections
between different formulas of Ramanujan's mathematics and some formulas
concerning particle physics and cosmology. In the course of the discussion we
describe and highlight the connections between some developments of
Ramanujan equations and particles type solutions such as the mass of the Higgs
boson, and the masses of other baryons and mesons. We have obtained
mathematical connections also with the boundary state corresponding to the
NSNS-sector of N Dp-branes in the limit of u — oo, with the ratio concerning the
general asymptotically flat solution of the equations of motion of the p-brane
and with the Karatsuba’s equation concerning the zeros of a special type of
function connected with Dirichlet series.

Moreover solutions of Ramanujan equations, connected with the mass of
candidate glueball f)(1710) meson and with the hypothetical mass of Gluino
(gluino = 1785.16 GeV), the masses of the = mesons (139.57 and 134.9766 MeV)
have been described and highlighted. Furthermore, we have obtained also the
values of some black hole entropies and the value of the Cosmological Constant.

Is our opinion, that the possible connections between the mathematical
developments of some Rogers-Ramanujan continued fractions, the value of the
dilaton and that of "the dilaton mass calculated as a type of Higgs boson that is
equal about to 125 GeV", the Higgs boson mass itself and the like-particle
solutions (masses), are fundamental.

All the results of the most important connections are highlighted in blue
throughout the drafting of the paper
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From:

MANUSCRIPT BOOK 1 OF SRINIVASA RAMANUJAN

Page 307-308

sqrt(210) — (4-sqrt15)"4(sqrt10-3)"4(sqrt7-sqrt6)"4(8-3sqrt7)"2(6-sqrt35)"2(sqrt15-
sqrt14)"2(3-2sqrt2)"2(2-sqrt3)"2



Decimal approximation:
14.49137674618943857344800157824521655038419970899638861360...

14.491376746....

Continued fraction:

14 +

1
2+
28+ 1

28+ ll
2+ T
28+ 1
2+ 1
28+

28+ 1

From which:

-(((5+sqrt5)/2))+Pi"2(((sqrt(210)-(4-sqrt15)4(sqrt10-3)4(sqrt7-sqrt6)4(8-
3sqrt7)"2(6-sqrt35)"2(sqrt15-sqrt14)"2(3-2sqrt2)"2(2-sqrt3)"2)))

Input:

(3fs+45)-
(V10 (a5 (V10 -3 (V7 -5 (3-07 (- 5
(V15 -] fo-2 2 p- V3] )

Exact result:



[5-¥5)-
(V210 -(a-2 ) fo- V] (3-037] (V7 -5 ' (V32 -3
4V (V55 e o V55 )

B |

Decimal approximation:

139.4061217232853774870667197545671321478816154631262518936 ..
139.40612172.... result practically equal to the rest mass of Pion meson 139.57

Property:
(5-¥5)-
(V710 ~(p-22 ) 2= V3 =377 (V5 V7] (-2
(4-V15] (V14 V15 (s-V35 )

2.
7 1s a rranscendental number

|

Continued fraction:

130 + 2 I
-t
9 1
N 1
B+
7 1
* 1
2+ 1
5+ I
3+ I
1+ 1
2+ T
0+ 1
1+ 1

And:



((((sqrt(210) — (4-sqrt15)*4(sqrt10-3)4(sqrt7-sqrt6)4(8-3sqrt7)"2(6-
sqrt35)"2(sqrtl15-sqrt14)*2(3-2sqrt2)"2(2-sqrt3)"2))))*3 + 55 -golden ratio

Where 55 is a Fibonacci number

Input:
V210 (o5 " (10 -of" (V7 -5 ' o247
6~V (V35 - 14 a-2V2 (2o 55

# iz the golden ratio

Decimal approximation:
3096.571082711032205462197461448816664908654537992084149955...

3096.57108271.... result practically equal to the rest mass of J/Psi meson 3096.916

For x =2, we obtain:
Pi/12 * 1/((cos((2P1)/2)*((((((cos(2P1)/2)))+cosh((2sqrt3Pi)/2))))))

Input:
m 1

12 : cus(i—"}(% cos(2 )+ cush{i (2 V3 :r}n

cosh(x) is the hyperbolic cosine function

Exact result:



i

12 [_El - cosh(vV3 ;r}}

Decimal approximation:

~0.00225914143996602401702007430914437475150868259873936607...
-0.002259141439....

Alternate forms:

r

—6-12cosh(V3 a)

m

6+12cosh(v3 n)

i

" 6(1+2cosh(v3 x))

Alternative representations:

i

[cns[% }[% cos(2 m + cush{‘% m 12

T

12 [cnsh[—z m [21 cosh(-2im) +cos(-im ﬁ]-”

T s

[cos[% ) [i cos(2 m) + u:mh[2 “f = m 12 12 [cnsh[z ;r}[ coshi2im) + cos(—in ‘«"'_}”

T s

[cns[%}[% cgg[zn}.;mgh[”%]]] 12 12 [cash[ uﬂn[ cosh(-2im) + cos(ix \.'f_}”

Series representations:

o
[cns[%}[% cos(2 m) + cnsh[z ‘f” m 12 El +12 Z:J_n ikl
T i

[cns[%}[é cos(2 m) + r:n::sh[2 ‘“23 = m 12 ) 6-12 ZZ::I fzk[ﬁ] Topimy (-2 +8y)

a i

2431 ) 12 6+120(VE 1)+24 3" Ly(V3 x)

[COS[

ks |8

}[% cos(2 m + cosh{



Integral representation:

m e

[cns[% } [é cos(2m) + cnsh[z ‘f - ]]] 12 6 VT —6i [i= .-':3”2:'-""‘45’”

: — ds
J—i saty Vs
Half-argument formula:
T _ Fis
2myf1 23 n ! B f
[cns[?}[i cos(2 m) + ccsh[ 5 ]]] 12 44 [_é _ \I E1 (1+cosh(2v3 x))

Multiple-argument formulas:

Fis T

[cns[% } [% cos(2 ) + cnsh[z ‘f” ]]] 12 6412 T 5 (coshimp

T i

[cns[%}[é cos(2 m) + cnsh[z ‘f” ]]] 12 12 [21 g ccsh‘?[% ]]

i i

-2 sinhz[%]]

[cns[% } [é cos(2 m) + cnsh[z ‘f" m 12. 12 [—

2
2

SIH((((( Pi/12 * 1/((cos((2Pi)/2)*((((((cos(2Pi)/2)))+cosh((2sqrt3PiV2))))))))

Input:
m 1
-1+ —

12 cns[i—"}[é cos(2 )+ cnsh[El (2 V3 ;r}”

coshix is the hyperbolic cosine function

Exact result:

h

=
12 [— e cosh[ﬁ ;r]}

2

Decimal approximation:

-1.00225914143996602401702007430914437475150868259873936607...
-1.002259141439966024. ..

Alternate forms:



I

" 6+12cosh(v3 n)

i

" 6{1+2cosh(v3 x))

Alternative representations:

ki

- [cos[i—”}[i cos(2 fr}+CDSh[2 "f” m 12 )

T

-1+

12 [cnsh[—z ) [% cosh(-2im) + cos(—in ﬁ}”

Fis
I -

[ms[z?"}[% cos(2 n}+cnsh{2 ‘f" m 12 -

i

-1+

12 [cash[z ) [% coshi2 im) + cos(—ix ﬁ}”

Fis
B -

[cns[z?"}[é cos(2 ;r}+cush[2 "'2—3" m 12 -

h

-1+

12 [cash[—z m [zl cosh(-2im) + cosfix ﬁ}”

Series representations:

x 2
(oo Feoen o212 6erzyy, T
. s - -
(cos(22)(; cos2m + cosh( 227 ))) 12
T Zk“ﬂjfz;c[f}}Tzk[fr}[—E &)
14 = -

[cns[z?" } [é cos(2 ) : ccsh[z‘fzé m 12

6+121,(V3 n)+24 Yoo Lk(V3 )

Integral representations:



T by
-1+ =-1

[cns[z?"}[é cos(2 n}+cnsh[2 ‘“f” ]]] 12 18412 ﬁnﬂsinh[ﬁnt].’;t
-1+ = — . _}T
[cns[z?" } [% cos(2m) + r:n::sh[2 ‘“23 = m 12 6+12 J':_Lg Tsinhit)dt
2
T

-1+ =

[cns[z?"}[é cos(2 n}+cnsh[2 ‘f” m 12

}TE_IZ
-1- [o1

{32 |14 s)4es

6V -6 [f e — ds

=i oty Vs

Half-argument formula:

ki T
-1+ = =-1+ :
[cns[z?" } [% cos(2 m) + r:u::lsh[2 ‘“23 I m 12 12 [_é - \/ El (1+cosh(2+/3 x))
Multiple-argument formulas:
. i - —_1- =
[cns[z?"}[i cos(2 :ﬂ+cosh[2 “'23 = m 12 6+12T 5 (coshir)
-1+ a = =-1+ i —
[cns[z?"}[é cos(2 ;ﬂ'+ccsh[2 ‘f; = m 12 12 [% -2 cnshz["'; "]]
i F
o [cns[z?"}[é cosi2 ;ﬂ-+cnsh{2 ‘f" m 12 - 12 [—3 -2 sinhz[%]]
And:

-1/(((-1+((((( Pi/12 *
1/((cos((2P1)/2)*((((((cos(2P1)/2)))+cosh((2sqrt3Pi)/2))))))))))))))

Input:
1
o 1
12 CDS: E—;H % cos2 :r]+-:u:-5h|: % 1:2 V] :rT”

cosh(x) is the hyperbolic cosine function

Exact result:

10



1

m

12(-Lcosh(V3 #))
Decimal approximation:
0.997745050776043539280608765580683862806127365159561488474. .

0.9977459507673043.... result very near to the value of the following Rogers-
Ramanujan continued fraction:

e_% e
\/g =1- e_z”‘/g = (0.9991104684
-p+1 1+ e’3”‘/§
1+3 ¢5‘{/5_3 -1 e
e—47r«/§
1+
1+...

and to the dilaton value 0.989117352243 = ¢

Alternate forms:

T
" 6+x+12cosh(v3 n)
6 +12 cosh(V3 #)
6 +x+12cosh(V3 )
6(1+2cosh(V3 )
6 +x+ 12 cosh{V3 )

1

Alternative representations:

1 1
-1+ I - R — S —
[I:Dg: E:.r_l % EDS':ZH]KDE]'I[T 3._'73 1 m 12 lzl:cnsh-:J JT_H: B coshi2 | n]+cns:: —imy 3 m
1 1
— l + L paem & = l + 1 T —
[EDQ: E.fLI % - n]mnsh[% ]” 12 1z I:cnsh-:—J' :r;ll: 5 cosh{-2 J':r,chs:I:r Y 3 Tl|

11



1 1

-1+ T -1+ =

[CD#:E;E][;'CDE{ZJTJMDS}I[T Y3 m 12 12|:r_'|:|5h-:—d'nJI:‘l;cnshu:—zin:les{—f:r 1.-'?:”]

2

Series representations:

1 1
e cod 2| [L cq Zn:r+q:|:|5h 2V3n 12 : t B+12 ; M
[ 5{2 ][2 G [ Z m Zk=ﬂ 2L
B 1 3 1
i b ¥ 2 TEs 2nj:+-:.:|sh 242 145 ek 6+12p(Vv3 :r:|+2: Zm_ Iy V3 x
e p—es)
B 1 o 1
o [cns{%ﬁ][é'cnﬂ-:.? JT:!-CDE]'I[E_\LEEJ'“] 12 L |Igiri +1.n'?l|n'|1+2k
- 612 ) T aezky
Integral representations:
1 1
e [ms{u][lhmﬂnfﬂmh[u?_u_]” . ik 13+12«.«—3n£;sinh{v—3 e )de
L2 M2 ' 2
B 1 3 1
e [cns{u][l'ms:z H?-I—CDE]'I[EJL’_LE']” 12 b G+12 J'."'"Ennsinh-:ndl
L2 /|2 3 :?n
1
e u — =
[cn:\s{ Ef‘ ] []2" cos(2 n]wnsh[z—\"l—gu ”] 12
1

__1+ = I'..|' (]

I,
. : (2% )4 5145
12 [-1—+‘— Coy e e

2 g4y ey Vs

Half-argument formula:
1 1

M Ll 1+ T
[ms{ ".:.?E. :I [lzh cos(2 n]mnsh[m]“ 12 12 _"||||II i— {1+c-:-sh{2 v3 .ITI|I|

1
X 2

12



Multiple-argument formulas:
1 6 +12 T /7 (cosh(m))

-1+ L = T b4n+ IET.?[CDSh[}TH
[cn:\s::?"z"l][% CDE:2.-‘I’:I+CDE.|'I[EJITE3_£L”]12 !

1 1
-1+ = = R T
[cn:ns:q"f][%cns:zn]mnsh[z—ﬁs—ﬂmlz 12[%—2.:05]12[13;‘1”
1 1
—L+ = — R L LR
[-:DS:E:-L:I %EDE‘:ZH]HDS]'I[E_\LE_J']HIZ 12[—%—25i11h2[13;1”

32*1/log base 0.9910142417484 ((-1/(((-1+((((( Pi/12 *
1/((cos((2Pi)/2)*((((((cos(2Pi)/2)))+cosh((2sqrt3Pi ) 2)))))N)N)))))))-Pi+1/golden

ratio

Input interpretation:
32 .

logg co10142417484 | - i 1

coshix is the hyperbelic cosine function

logpixiis the base-b logarithm

# iz the golden ratio

Result:
125.47644134. ..

125.47644134... result very near to the dilaton mass calculated as a type of Higgs
boson: 125 GeV for T =0 and to the Higgs boson mass 125.18

Alternative representations:

13



32 1

&
1 1
080.00101424174840000 | ~ T 7 "
2mifl 243
12[@0&{ 2 ][Emﬁzmmh[ 2 ]“
1 32
-+ —+
log|- 1 p
=1+ —
lzl:mn:ll:n:ﬁhl:.n v 3 :|+2 l'_'DE{E.IT:I:I]
logi0 291014241 74840000 )
32 1
-+ - =
&b

1
m

| ]

1080 co1014241 74840000 | —

=14

-n+ —+
1

T
lz{cashl:—d' nj{to:sht—zfnhms{fn ‘-l'?llllll

logn co1014241 74840000 | -

=1+

32 1
-+ - =

&

1
m

12 [ms{%w%mz mn+cosh[2 “':3 ”m

1 32

logg 001014241 74840000 | —

=14

T+ — +

1

1080 001014241 74840000 | - T

lz{n:wsh-:—u' JT;I{ é‘ c\:\shq—zfn;l-ima{—d' T ‘a'?l|:|:|

=14

Series representations:
32 1

T+ — =

1
[

12 [ms{%ll[%msﬂ mmh[‘? "’2—3 1 ]“
321o0g(0.99101424174840000)

1080 001014241 74840000 | —

=14

k
-1f|- —
n—lE-th{n v 3 ]aﬂn]—é cos{micos{2 m)

z\}{l
k=1 k

14



32 1

1
o

e -

l0gn 001014241 74840000 | —

=14

—||-32 ¢ - 10g0 oo1014241 74840000

1
__1 P = +

2k 3k

= & T w (1fn

5[2 ERERT Ek=1f2kl{n V3R, 2 |0 @

¢ 7 10gq co1014241 74840000
= T
2k 2k

g ) = o 1—4JkJT 5 'i—li'kﬂ
6[2!;:,{111.-' 3 Ja B bl v B ER, 2k ]Ekd;. (2!

¢ 10gq co101424174840000

1

i

-1+

= N e (AF 22K (1F2F
5[”1:'{”‘*’3]*‘124.;:1’“{”“]" k=0 (2K k=0 (2 k)

15



32 1

1
T

2myf1 243
li[mq.?”][imimmh[ = "]

£

10€0 001014241 74840000 | -

=14

—|[-32 ¢ - 10gn 001014241 74840000

1
1+ u L
2k Ik
=3 0 Tl ow =4fn oo (=1f
12 fp (7 V3 42 ERL) by lm v3 45 By R |Ek=0 2
¢ 7 logg eo1014241 74840000
1 /
T = /
L o (—af g2k -~ (=15 g2k

— & -
12 [‘ID'I["T ¥ ]+2 E.l~:=1"r2.'-:||rJT ¥3a ]+2 Sk=0 2k ]t—-k:ﬂ (2 k)

¢ 1020 001014241 74840000

1

m

£} o = L e (=4 2K 0 -1 g2k
12[*’:1{”‘*'3]+Ezk=1f2k{”“'3]+gzk=n 2k Zk:ﬂ 2K

-1+

Integral representations:

16



32 1

1
T

1"-‘[005!:2"1[ mznimh[zﬂ—g ”]

logn 001014241 74840000 | -

=1+

-|{-32 ¢ - logp oo1014241 74840000

= -
12J sinir) dt 1+|_°”1|} zsmm+45mh|l -::r—2r:|1.-'3'|1.-'3'|d‘f

hJ

¢ m logn co1014241 74840000

1
-1 - n
12 _|]£sinqrmr] 14+ [#7 L (-3 sin)+4 sinh( -1 (200 V3 V3 Jae
2 2 ' o
¢ 1080 001014241 74840000
1
i, T

12

[Zs m-:r:u:ir][lﬂnnlll ~3sinic)+4 sin| - 1 Lin20vE) V3 |ar
2 2

17



32 1
-7+ — =
b
1 1
080.00101424174840000 | ~ T 7 T
2 (1 243 n ]
= 004
1..[005{ 2 I[zmﬂzn)mh[ 2 ]
i r
—||-32 ¢ - logg oo1014241 74840000
1
= _1 ~ p +
5 " 5[—3:—[[ E'_E
— 35|1'|[':I =
6 | [Fsinieyd | [7 V3 |5 inhiry+ o ot
s i 5 e
5 o i-2473
2 2
i
¢ 11080 001014241 74840000
1 /
s, u = /
) 2{‘[[—3:—[[:@ 3
o 3sin S ]
& ]]{'sin»:r;u:!r]]';."_r\" # | 2 sinhity+ Loy dt
3 ? i-2+3
f i
1
¢ 1085 oo1014241 74840000 | — 1 =
i 2]‘;[—3{—[[ ]!'_3
_— 35|r|[ ey
& J}'sinqr:dr]ﬂ"" 2sinhiri+ Lol dt
o T i =l
2 e i-2v3

18




32 1

logg oo101424174840000 | - =

- [[- 32 ¢ -loggoo1n 14241?4840000[

1
=iy g = +
12 I:'].—.-T Ell sin-;:rr;udr:n:_1+% |11—2n Ell sin{2 m )t j4m Y Ell sinhl:.nr *u'?]df]

¢ 7 logp eo101424174840000 [

: /
=1 1 1 1 T. = 1. o
12|1-m I sm-:nr]dr:n: 1+ {1-2n I SIM{Z Ti)di4my 3 5 5|11h|::rr v 3 ].:ir]

[iP logn oo1014241 74840000 [

1
7 l + 1 - 1 1 1 JT. = 1l - — [
12(1-m b smn::rijdfllﬂ 1+§ {1-2m b sm{Zrijdi)4m v 3 I 5|11h|::rr V3 ]‘“.l

32*1/log base 0.9910142417484 (((-1/((((-1+((((( Pi/12 *

1/((cos((2P1)/2)*((((((cos(2P1)/2)))+cosh((2sqrt3Pi)/2))))))))))))))))))+11+1/golden
ratio

Input interpretation:
32 +11+ -

1
loga co10142417484 | = T 1

=14
12 coef 27 L cos(2 mpscosh 1 (2 V3 1

cosh(x) is the hyperbolic cosine function

loggixiis the base=b logarithm

# iz the golden ratio

Result:
130.61803399 .

139.61803399... result practically equal to the rest mass of Pion meson 139.57

19



Alternative representations:

32 1
+11+ - =
&
logg oo101424174840000 |~ g ln
2my(1 2v'3
12[1::5{_?”][5m2n:+msh[ : ”]”
1 32
11+ -+
&
log|- 1
=1+ I —
12|:msc:r3|}msh|:_n Va :|+é-n:\sc2 |
logi0.991014241 74840000)
32
+11+ - =
&

1
T

12 [0054%1[%m2 n:+-::.msh[2 “':3 ”]“

32

logg 001014241 74840000 | —

-14

1
11+ -+
&
1

T
12|=cash-:—u' .IT:I{JE"IIEhl;—E J'n]+cu.=.{:':r *?'I'ﬂ

1080 001014241 74840000 | -

=14

32

+11 +

=l

1
T

12 [cas{z—;:l[%mimmh[z “E ”]“

32

logn oo1014241 74840000 | —

=14

1
11+ -+
&

1
[

1080 oo1014241 74840000 | -

-1
+12|=.-3:Eh-:—u' JT;I{ 12" cosh({-2 J'Ir]-l-o:va{—u' m ‘a'?l|:|:|

Series representations:

32
+11+ - =

1
T

12[004_%][%-:0&:2:1;%%%—3"]”

i 1 32 log(0.99101424174840000)
P
&

logn oo1014241 74840000 | —

-1+

3
-1 |- —1
.lT—lElIEhl:.lT v 3 ]nﬂn]—énﬂn]mE m

Z\}O
k=1 k

20



32
+11+ - =

1
T

12 [cas{%ll[%mﬂi mmh[z “':3 ”]“

10€0 001014241 74840000 | —

=14

32 ¢ + 1020 001014241 74840000

-1+ u

o ARAZE) K 2E

“k=0 2Ky k=0 gy

6[2 Rt VIR ER Ll VI )

11 ¢ logg eo101424174840000

-1+ =

= = (=af 2k (=1 n2k
'5[21'0{”‘“'3]+43f=1*’2k{”3]+3?=n FTI F a

¢ 10gq co101424174840000

1

-1+ =

e = {-af 2Kk -1 n2k
'5[2"0{”"3]”2:0:1@({”"3]* k0 m:;! ]Zf:n 12!:1!

21



32
+11+ - =

logn oo101424174840000 | ~ -

32 ¢ + 102n 001014241 74840000

1
-1+ . i
Ik 2k
i = 4;Ik.l'l' ) ':—le-rr
[fﬂn v 3 ]+2 B e k‘ﬂ V3 I|"’ ..;.;=|:| 2 k) Lk=n {2 k)
11 ¢ logg oo1014241 74840000
1 !
o T /
7k 2k
12l o2 5 {3 o e S iy U
=1 2 ...,l.;_lj 2 k) k=0 g2k

¢ 1020 001014241 74840000

1

i

12 [fn{" V3 2 Zk“:l Iyl “'?]"Jﬁ Zk:ﬂ _‘:7 k:' ]Zk:ﬂ 2 kJ'

-1+

Integral representations:

22



32 1
+11+ - =
fir]

1

logg eo101424174840000 g T
2my(1 2v3n
o 200 L
1..[005{ 2 ][zmﬁzmmh[ ]“
32 ¢ + logp oo101424174840000
1
s - 3
12 J'gsimrmr] 1+ ¢ (-3sini)+4 sink{ - (1-20) V3 | V3 Jdt

2 2

11 ¢ logg oo1014241 74840000

m

14 ,f”é{—g sinif 144 sinh —;—. (=2 r:lu'?]u'?]dr

2

.
12 [J{ simrmr]
2

¢ 1020 001014241 74840000

1

| -2 sinic)+4 sinh| —% (r-200¥3 |3 |dr

.
1
||z

12 J'g simil ) di
2

1437
2
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32

1

l0gn 001014241 74840000 | -

b

=1+

32 ¢ + logn oo1014241 74840000

11 ¢ logg eo101424174840000

12[@_%][%-:@:2:1”«:@[
(

2

243 :r]

)

+11+ - =

& [J'E” sinqrmr] J':.Tn\"
2

2 simhil 1+

i=243
i-2+43

3sin

i

7 sini )t
3

F

|

¢ 1080 co101424174840000

]J-Irr'.n'

i 2 mimhil i+
2

-1-

] J_:T valy simhif 1+

i} [J]f sl dt o
2

2

24

i-2+ 3
i-2+43

3sin




32

logg oo101424174840000 |~ - T

32 ¢ + logp eo101424174840000

1
- +
& 1 I, -1n- = g 3 |de|
12|'l1—rr b smurr;ldr:l{1+5 (1-2m h sin2 )l [4r v 3 B smh{rrr V3 ]di.

11 ¢ logn oo1014241 74840000 [

: /
Ee 12 (1 (L singr opatr) (141 (1-2 T 2nnydehn V3 [Lsinhfre 3 ar)
{—:rhsmn:n] ._+2':,‘"j:,5"""”:' 4w | simhi .

[¢ l0gn oo1014241 74840000 [

b1

1
ik 12(1-n (Lsinroyae)( 143 (1-27 Lsi jr V3 (Lsinhre V3
-~ | 2{ - JTJ'J sm{Zmi)dij4+m v 3 ’Esm ||[:rl1.n'3:|dl:|

Page 309

, . dig) _|g{1.!— +‘|3;‘-+l-3)

{1l = F T -
{“"'ﬂ” 0= ‘I"‘“’”} {£ %= + s7xFE :-_u}.%
Ifl ) \U'-@u) - _F'g__,,_’c?,r,? :

el =
4r)t s ptem L
= %4 4 = px)

T‘-

Y el Lyl P

Forx =2, 2.91563611528....=¢ and 0.0395671... = y, we obtain:
1+12((2/(1-2)+H(2*272)/(1-22)))-12((3*273)/(1-2"3)+(6*276)/(1-276))

Input:

25



+

1+12
+ +
1-2% " 1328

2 % 22 3x2%  fx26
=13
1-2 1-22

Exact result:

415
7
Decimal approximation:

L0 2857142857 142857142857 142857142857 1428571428571428571428. .
59.2857142857.... (A)

Repeating decimal:
59.285714 (period &)

[(((((2.91563611528"4(sqrt2)+3*2.915636115284(sqrt8)))))) /
(((((4%2.91563611528*(sqrt2)*2.91563611528*(sqrt8)))))) ]2

Input interpretation:
2.91563611528%+2 +3-2.91563611528* n.fi]z

4.2.91563611528+'2 - 2.91563611528 V8

Result:
27.66428147416757219066455288486872511552700048

Repeating decimal:
27.66428147416757219066455288486872511552790048
27.664281474....

(((0.039567174%2+3%2%0.0395671°4*8)))"2 / (((0.039567172%2%0.03956712*8)))

Input interpretation:
(0.0395671% 2 + 32 0.0395671% - 8)

0.0395671% - 2. 0.0395671° - 8

Result:
0.000382963080939865161532515625

0.00038296308009....

26



((((1+12((2/(1-2)+2%272)/(1-222)))-12((3*2"3)/(1-273)+H(6*276)/(1 -
2/6))))))*6.45962x10"-6

Input interpretation:

2 2 x 22 3.2 6.2°
1402 o

+ +
1-2 1-132 (- S (|

]] 6.45062  10°°

Result:

0.000382063185714285714285714285714285714285714285714285714 ...

Repeating decimal:
0.0003829631857142 (period 6)

0.0003829631857142

And:

(((0.039567174%2+3%2%0.0395671/4*8)))"2 /
(((0.0395671/2%2%0.0395671/2*8)))* 154808

Input interpretation:
(0.0395671% 2 + 322 0.0395671% - 8)°

154 808
0.0395671% - 2 - 0.0395671° . 8

Result:
59.285748634138645926525678875

59.2857486341.....
(((A+H12(2/(1-2)+(2%272)/(1-272)))-12((3*2"3)/(1-2"3)+(6*276)/(1-2"6))))))
Input:

2 2 % 22 Ix2  Hx28
1+12 + -12 +
1-2 1-22 12 “q.-g8

Exact result:

415
7

27



Decimal approximation:

59.28571428571428571428571428571428571428571428571428571428. ..
59.2857142857.....

We have:
2 (((A+H12(2/(1-2)+(8)/(1-4)))-12((24)/(1-8)+(384)/(1-64)))))) + 7
Where 2 and 7 are Lucas numbers

Input:
2 8 24 384
2[1+12[ A ]-12[ 3 D+?
TR Sl T <0 1<E4

Exact result:

B79
7

Decimal approximation:
125.5714285714285714285714285714285714285714285714285714285...

Repeating decimal:

125.571428 (period 6)

125.571428 result very near to the dilaton mass calculated as a type of Higgs boson:
125 GeV for T =0 and to the Higgs boson mass 125.18

And:
2 ((((1+12((2/(1-2)H(8)/(1-4)))-12((24)/(1-8)+(384)/(1-64)))))) + 7 +11 + Pi

Where 2, 7 and 11 are Lucas numbers

Input:
2 8 24 384

2(1+12[ + ]-12[ § H+?+11+n
TP 1-F 1=63

Result:

956

— + T

7

28



Decimal approximation:

139.7130212250183646670340719547080743127685979708036772495 ...

139.713021225018.... result practically equal to the rest mass of Pion meson 139.57

Property:
056
? +misatranscendental number

Alternate form:

1
— (056 +7m
7 + 7

Alternative representations:

8 24 384
2(1+12[ + }—12[ + D+?+ll+}r=
1-2 1-4 1-8 1-64
384 24
18+18Dc+2[—55—12[——+——]]
63 7
8 24 384
2(1+12[ ; }- 2[ i D+?+11+n=
1-2 1-4 1-8 1-54
18 -1 1y+2|-55-12 3—84 el
—rlogi—1)+ [— o [— +——D
o B
2 8 24 384
2(1+12[ - J— [ + D+?+ll+}r=
1-2 1-4 1-8 — B4
£ 384 24
18 + cos [—1}+2[-55-12[-6— -?D

Series representations:

2 24 384 956 2 (-1
2[1+12[ + ]-12( + D+?+11+n:—+42‘
i 1-8 1-64 7 =143k
8 24 384
2(1+12[ + J— 2[ + D+?+ll+}r:
I Gl 1-8 1-64
k -1-2k k k]
956 &, 4(-1) 11957172k (5142k _4. o39142K)
il N
¥ 1+2k

29



8 24 384
2[1+12[ J—lﬁ[ + J]+?+ll+}r:
1- l 4 1-8 1-64
056 X 1 2 1
syl a7
7 e 4 l+2k 1+4k 3+4k

Integral representations:

8 24 384 956
] 12[1 D+?+11+n——+4j J1_¢ at

2[1 12[ 2
- - i

1-2 1-4

2 8 24 384 056 | 1
2[1+12[—+—J—12[ + D+?+ll+fr=—+ﬂj dt
1-2 1-4 1-8 1-64 0 “u'll—tz

2 8 24 384 15 |
2[l+12[ + ]—12[ + D+?+ll+}r=—+ZJ dt
1-2 1-4 1-8 1-64 7 o 1+t

From which, we obtain also:

2 ((((IH12(2/(1-2)H(®)/(1-4)))-12((x)/(1-8)+(384)/(1-64)))))) + T +11 + Pi =
139.713021225018364667

Input interpretation:

2 8 X 384
2[1+12( - ]— [ + J]+?+11+}T—_
1-2 1-4 1-8 1-5H4
139.713021225018364667
Result:
x 128
2 [— 12 [— E" - EJ = 55] +r+18 = 1390.713021225018364667
Plot:

30



150 | /

30 i e 1281

o | — 139.713021225018364667

Alternate forms:

24 x
7 - 82.285714285714285714 =0

4
= (6x+95)+r=139.713021225018364667

1
= (24 x+ 77+ 380)=139.713021225018364667

Expanded form:
24 x 380

= +m+ T = 139.7130212250183646067
Solution:

x = 24.0000000000000000000
Integer solution:

x=24

24

This value is linked to the "Ramanujan function" (an elliptic modular function that
satisfies the need for "conformal symmetry") that has 24 "modes" corresponding to
the physical vibrations of a bosonic string.

And:

1/2 * 59.2857486341386459* 1/(((((((0.0395671/4*2+3%2%0.0395671/4%8)))"2
/(((0.039567172%2%0.0395671°2*8)))))))-64*60-72

31



Input interpretation:

1 1
3 59.2857486341386459 -64.60-72

jo.039s671% -243-2.0 03956714 .82

0.02056712 .2.0.03055712 .8

Result:

73491.99999999999996536783805647678225083652794810420178645...
73491.99999.....

Thence, we have the following mathematical connections:

[

1
59.2857486341386459 -64 . 60-72

{0.0395671% . 243.2.0.0395671% . 82
003956712 . 2.0,0395671% -8 =73491.999... =

B | =

/13 W s Ud& (_ﬁpiopiﬂ | Bp)xs N \

= —3927 + 2 =

[ [(iX“]exp{‘/dS (—ﬁDX“DQXP)} | 35, X =0
\

13 50 50
—-3927 + 2 "u'l 2. 2083717437 - 1077 + 2.0823329825883 - 10

=73490.8437525.... =

= (A(T) % B(lr) (‘ qb(lr)) % eA1<r>) =

1 1
-0.000029211892 [— ]
= 0.0003644621 \ 0.0005946833) 0.00183393 | =

— 73491.78832548118710549159572042220548025195726563413398700...

= 73491.7883254... =
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/ SV et \/
B st

<H{( g | g 1) Qog X)® 4 (& (log Ty + &57h] (log I)") 7

7.9313976505275 x 108
/(26 X 4)? =24 = (26 47 - 24 = 73493.30662...

Mathematical connections with the boundary state corresponding to the NSNS-sector
of N Dp-branes in the limit of u — oo, with the ratio concerning the general
asymptotically flat solution of the equations of motion of the p-brane and with the
Karatsuba’s equation concerning the zeros of a special type of function

connected with Dirichlet series.

Now, we have that:

1/89 * 59.2857486341386459* 1/((((((0.0395671°4*2+3%2*0.039567 1°4*8)))"2
/(((0.0395671/2%2*0.0395671°2*8)))))))-11

Where 89 is a Fibonacci number and 11 1s a Lucas number

Input interpretation:
1

1
— «50.2857486341380459 -11
89 {o.0zes6714 . 243.2.0 03956714 -8 )2

002056712 .2.0.03056712 .8

Result:
1728.415730337078650907142428235433300007562425800094422167...

1728.41573....

This result is very near to the mass of candidate glueball fy(1710) meson.
Furthermore, 1728 occurs in the algebraic formula for the j-invariant of an elliptic
curve. As a consequence, it is sometimes called a Zagier as a pun on the Gross—
Zagier theorem. The number 1728 is one less than the Hardy—Ramanujan number
1729

33



Now, we have that:

/ 4 PELERESE" {:“— o)
J il ey T B
e Lxt g L1205 5 —xte
' 1l r"“i )
& %ﬂi(ad-ri ‘f‘ﬁ"‘-’} P )9 9")3' 'x‘w k‘ﬁ"’»‘(‘
e L g pat! k

For x =2, we obtain:

1H12((27°2/(1-2°2)H2*2°4)/(1-274)))-12((3#276)/(1-276)+(6+2712)/(1-2712))

Input:

22 2% 2% 3x26  fx212
1+12 =g

+ +
S [ Fogh Tt

Exact result:

6187

o1

Decimal approximation:
67.08001098901098901098901098901098901098901098201098901098...
Repeating decimal:

£7.989010 (period &)

67.989010 (B)

[(((((2.91563611528"4%(2)+3*2.91563611528"4%(8)))))) /
(((((4%2.91563611528*(2)*2.91563611528*(8))))))]"2

Input interpretation:
2.91563611528% ~2 + 3 2.91563611528* a]z

4291563611528 « 2+ 2.91563611528 - 8

Result:
11.92669277840387678628140162638473098092912036

34



11.9266927784... result very near to the black hole entropy 11.8477

Previously, we have obtained 59.2857142857 =415/7. From the division of the two
results, we obtain:

(6187/91) *7/415

Input:
6187 i
91 415

Exact result:
6187

5395
Decimal approximation:
1.146802594995366079703429101019462465245597775718257645968...

1.1468025949.....

From which:

110752 * (((6187/91) *7/415 - (64*(1+2¢))/1074))

Input:

L[ﬁlﬂ? i 54[l+2¢=}J
1020 91 415 qg¢
Result:

EEE—-i—[l+2ﬂ-
5395 G(25

10000000000000000000000000000000000 000000000000000 000

Decimal approximation:

1.1056085875910903006908174213861483852743050129188081 .. % 107

1.1056085...*#10™° result practically equal to the value of the Cosmological Constant

Property: -
& Lox i []_ + 2 &)
3393 625

10000000000000000000000000000000000000000000000000 000
15 a transcendental number

35



Alternate forms:

769059 - 8632 ¢
6743750000000 000000000000000000000000000000000000 000000000

769 059
5?43?5DDDDDDDDDDGDDDDDDDDDDDEGGDDDDDDDDDDDDDDDDDDGGDDDDDDD_

781250 000000000000000000000000000000000000000000000000

6187
SBQSDDDDDDDDDDDDDDDDDDGDDDDDDDDGDDDDDDGGDDDDDDDGGDDDDDDD+

-1-2¢

1562500 000000000000000000 000000000000000000000000000000

Alternative representation:
6187 -7  B4{1+2¢) 6187 -7  B4{1+2expiz))
o1 415 w0t o1 415 10

1|:|52 - 1|:|52

Series representations:

6187 7  64(l+2¢)

o1 415 104
1052
760059
5?43?5DDDDDDDDDDUDDDDDDDDDDDDD?DDDGDDDDDDDDDDDDDDDDDGGDDDD
Efﬂ Iy
k!

781250000000000000000000000000000000000000000000000000

6187 7 _ B4 {142 €

o1 415 w*
1052 -
769059
5?43?5DDDDDDDDDDGDDDDDDDDDDDDDDEDDUDDDDDDDDDDDDDDDDDGGDDDD
2o G
k!

1562500000000 000000 000000000000 000000000000000000 000000

6187 7 _ 64(1+2e)

91 415 104
1':'52
743163
5?43?5DDDDDDDDDDGDDDDDDDDDDDDDDDDDGDDDDDDDDDDDDDDDDDGGDDDD+

J81250000000000000000000000000000000000000000000000 000
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And:
((1/(((6187/91) *7/415)))"1/16

Result:
16l 5395
6187

Decimal approximation:

0.991475434560598806185017845740080870692286243597695028738....

0.99147543456.... result very near to the value of the following Rogers-Ramanujan
continued fraction:

e_% e ™
\/g =1- e‘z”‘/g =~ (0.9991104684
-p+1 1+—e‘3”ﬁ
143 (pS“\/S_3 -1 1S
e—47r«/§
1+
1+...

and to the dilaton value 0.989117352243 = ¢

Alternate form:

V5395 618715/16
6187

From which:
8*log base 0.99147534560598 ((1/(((6187/91) *7/415))))-Pi+1/golden ratio

Input interpretation:

8 logg co147534560508

1 1
BT | d
o] 415
37



Result:

125.475099924._ .

125.475099924...

loggixiis the base=b logarithm

boson: 125 GeV for T = 0 and to the Higgs boson mass 125.18

Alternative representation:

1
7 - 6187
415 91

8 logn oo1475345 605080000

Series representations:

8 logg co1475345605080000

415 91

1
glo s
£0.001475245605080000| — 1o

415 21

1 5395
; -1.000000000000000 r - 934.454467504508 lug[

53
B lng[ 7

k=0

1 1 1
— |-+ - == -r-
76187 & )

8105[ 4331::0 ]
1 1 91 415
-7+ - =-T+— +
i ¢ log(0.991475345605980000)
72
8 E:J ] = ' ISnlE!T-'Tk

k
log(0.991475345605980000)

s167)-

]2‘[ 0.008524654394020000)° Gik)

38

# iz the golden ratio

result very near to the dilaton mass calculated as a type of Higgs



8*log base 0.99147534560598 ((1/(((6187/91) *7/415))))+11+1/golden ratio

Input interpretation:

1

8 logn oo147534560508 T 7 +11 + ;

o1 415

loggix)is the base- b logarithm

# iz the golden ratio

Result:
139.616692577. ..

139.616692577.... result practically equal to the rest mass of Pion meson 139.57

Alternative representation:

1
7 6187
415 21

Slug[ T30 ]

1 1 91 415

+11+-=11+-+
i ¢ log(0.991475345605980000)

8 logn oo1475345605080000

Series representations:

TR P
81 (1 1145 21142 8 T P
o I il
B0.991475345605980000| 7 g1g7 | 10T 5 T 10T 4T 10g(0.991475345605980000)
415 - 91
81 1 1141 21141 - 934.454467504508 log| 2o
0En 00147534580 5080000 TAETI + + 5 = +¢ - 934, 02[518?}
415 21
5395 &, :
81 [—] _0.008524654394020000° Gik
of| == 2‘[ g " Gik)

k=0

39



From the sum of the two result, we obtain:

(6187/91) + (415/7)

Input:
6187 415

L &
o1 7
Exact result:

11582
91
Decimal approximation:

127.2747252747252747252747252747252747252747252747252747252. ..
127.274725...

(6187/91) + (415/7) - golden ratio

Input:

6187 415
T il
91 7

# iz the golden ratio

Result:
11582
-

o1

Decimal approximation:
125.6566912859753798770701384403596366075544160949195118631...

125.656691285..... result very near to the dilaton mass calculated as a type of Higgs
boson: 125 GeV for T = 0 and to the Higgs boson mass 125.18
Alternate forms:

Elz [23 073 - 91 --J?]

40



1
— (11582 -91 &)
01 ¢

23073 45

182 2

Alternative representations:

6187 415 415 6187

— —p=— 4

oL T 7 T 7

-2 5in(54 %)

6187 415 415 (187
+ — —gp=2cos(216%+ — +
g1 7 7 a1

6187 415 415 6187
+— = —+

91 7 7

+ 2 5in(b66 #)

(6187/91) + (415/7) +11+ golden ratio

Input:
6187 415

+— +1l+4

91 7

# iz the golden ratio

Result:
12583

N

&+

Decimal approximation:
139.8927592634751695734793121090909128429950344545310375874....

139.89275926.... result practically equal to the rest mass of Pion meson 139.57

Alternate forms:

Elz [25 957 + 91 w,"?]

1
— (91 12583
> N

41



25257 4§
0
182 3

Alternative representations:

6187 415 415 6187
+— +1l+g¢=11+ — +
o1 7 7 21

+ 2 sini54 %)

6187 415 415 6187
+—+11+é¢=11-2cos(216%+ — +
o1 7 7 a1

6187 415 415 6187
+—+1l+g¢=11+—+
21 7 7 21

- 2 sin(B66 =)

Now, from the following expression (page 281), we calculate the value of f:

2.91563611528*2*2.91563611528*2"15 —2.91563611528*273*2.91563611528*2"5

Input interpretation:
2.91563611528 2 - 2.91563611528 - 217 +
2% .2.91563611528 - 2° - (-2.91563611528)

Result:
554040.9686950112280619490952

554940.968695011228061949952

Repeating decimal:
554040.9686950112280619494952

554940.968695... partial result
42



2¥2%x(272)Ex*(-2230)%(142°3)(14215) (1427 15)*(14275) (1427 15)(1427°25)

Input:
2x2x(2% x(-29) (1 +2%)) {1+ 2°){(1 + 2) (1 + 2°)) (1 + 2%} (1 + 2%°)

Result:
~ 6066895 620286660 493405 105 160192 x*

-6066895620286660493405105160192x” partial result

We note that:
(6066895620286660493405105160192)"1/14-18-1/golden ratio

Input:
: 1
'y 6066895620286 660 493405 105160192 — 18 — :

Result:
1 : : v e :
<-4 2317 , 3914, 115114 {331 ¥ 1016801

Decimal approximation:

139.4278984534431795594670234572829277865469534849921555943...

# iz the golden ratio

139.427898453... result practically equal to the rest mass of Pion meson 139.57

Alternate forms:
1 — : ; i : -
2 [-35- N5 £ Bx 27T 3% 1154 931 Y 1D168Dl]

1-2[2 2317 3914 115114 {337 ¥ 1016801 -9]¢

L

_18+4 237 3914 11514 Fa31 W 1016801 -

1+45
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Alternative representations:

. 1
Y 6066895 620 286 660 493405 105 160192 — 18 — .=
_18 + 'Y 6066 895 620286 660493405 105 160192 - —
2 sini54 %)
- 1
'Y 6066895620286 660 493405 105 160192 — 18 - 5=
: 1
_18 + ' 6066 895 620 286 660493405 105 160192 — - ———
2 cos(2167)
- 1
'Y 6066895620286 660 493405 105160192 — 18 - ;=
1

_18 + 'V 6066 895 620 286 660493405 105 160192 — - ————
2 sin(666 %)

In conclusion:

554940.968695011228061949952= 2%2%x(2/2)*x*(-
2730)%(142°3)(14245) (1427 15)*(14215) (1427 15)(1+2725)

Input interpretation:
554940.968695011228061949952 =
2x2x (22 x(-2%) (1 + 2% (1 + 2°) ({1 + 2°) (1 + 2°)) (1 + 2"%) (1 + 2%°)

Result:
554040.968695011228061949952 — —6 066 895 6520 286 660 493405 105 160 192 x°

Alternate form:
6 066 895 620 286 660 493405 105 160 192 x° +
554040.968695011228061949952 — 0

Complex solutions:
x = -3.02440628874673343705248272x 10~

x = 3.02440628874673343705248272x 1073 ;

Polar coordinates:

r = 3.02440628874673343705248272 %« 10712 (radius), &= 90°

L]

3.024406288...%10"° = / final result
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We perform the following equation:

(59.2857142857 - 27.664281474 - 0.0003829630809 -
3.02440628874673343705248272x10"-13 1)x = 31.621049849

Input interpretation:
(59.2857142857 - 27.664281474 — 0.0003829630809 -
3.02440628874673343705248272 - 10" i) x = 31.621049849

Result:
(31.621 - 3.02441 x 107" i) x = 31.621049849

Alternate form:
~31.621049849 + (31.621 - 3.02441x 10 7 ijx = 0

Alternate form assuming x is real:
i(0-3.02441x 107" x) + 31.621 x + 0 = 31.621049849

(59.2857142857 - 27.664281474 - 0.0003829630809 +
3.02440628874673343705248272x10"-13)x = 31.621049849

Input interpretation:
(50.2857142857 — 27.664281474 — 0.0003829630809 +

3.02440628874673343705248272 lD'lB] x = 31.621049849

Result:
31.621 x = 31.621049840

Plot:

/ j — 31.621
-~ 40}

" j — 31.621049849

Alternate form:

31.621 x-31.621049840 =0
45

iizthe imaginary unit



Alternate form assuming x is real:
31.621x+0 = 31.621049849

31.621049849/31.621

Input interpretation:
31.621049849

31.621

Result:
1.000001576452357610448752411372189367825179460330095572562. ..

1.000001576452...
(1/(31.621049849/31.621))4096

Input interpretation:

A096
l ]

31621049842
31.621

Result:
0.0035A3658786620808043264646550806134306905155068855680220

0.9935636587... result very near to the value of the following Rogers-Ramanujan
continued fraction:

e_% e
\/g =1- G_Mﬁ = (0.9991104684
-p+1 1+—e_wg
143 (pS“\/S_3 -1 1o+
e—47r«/§
1+
1+...

and to the dilaton value 0.989117352243 = ¢
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2sqrt(((1/log base 0.9935636587 (1/(31.621049849/31.621)))))-Pi+1/golden ratio

Input interpretation:
' 1 1

e

2

1 @
‘1 logg cozseaessr W FILECTEE]
31.621

loggixiis the base=b logarithm

# iz the golden ratio

Result:
125.4764421992650663948968386275861013270602702572945694409. ..

125.47644219... result very near to the dilaton mass calculated as a type of Higgs
boson: 125 GeV for T =0 and to the Higgs boson mass 125.18

Alternative representation:

1 1
2 —T+— =
1 )
\ 1080.0035 64| FTAzTRITEsenGE
31621
1 1 1 ( log(0.993564)
T+ —+2 -
L 1 'II?' IDE[D 009998)
log| 1 8310498490000
\1 31621
logi0.002564)

Series representations:

1 1 1 log(0.993564)
2 —-m+-—=-—-m+2 |-
1 ¢ @ | e (-1F(-157645x108)
\ 1080 o03564| FTAzIIAeEonEAT Z.k 1 K
31.621
1 1
2 -T+ - =
! ¢
\ logo.0035 64| FT Az EAenE
31.621

| 1 LB 1 &
= Ly L 2 (— 1+ J



1 1

2 -0+ - =

¢
\ IUED-WBEM[M]
31.621
vk .
k 1 it
E —_— ll—l " 1 i ik [_l g 1Dgg_p93564':ﬂ.9?9998]] [_2'.’:
V" 10g; coss64(0.999998) & k!

From the sum, we obtain:

(59.2857142857 + 27.664281474 + 0.0003829630809 +
3.02440628874673343705248272x10"-13 1)

Input interpretation:
50.2857142857 + 27.664281474 +
0.0003829630809 + 3.02440628874673343705248272 - 107

iizthe imaginary unit

Result:
86.050378723... +
3.0244062887... x 10713 ;

Polar coordinates:

r = 86.9504 (radiu #=1.99293%10"1%= (5

3

86.9504

Alternate form:
B6.9504

From the difference, we obtain:

(59.2857142857 - 27.664281474 - 0.0003829630809 -
3.02440628874673343705248272x10"-13 1)

Input interpretation:
59.2857142857 - 27.664281474 -
0.0003829630809 — 3.02440628874673343705248272 - 107 ;
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iisthe imaginary unit

Result:
31.621049849... —
3.0244062887... x 10713 §

Polar coordinates:
r =31.621 (radius), @ =-5.48007x1073% (angle)

31.621

Alternate form:
31.621

Now, we have that:

For x =2, we obtain:

14+6((2/(1-2)+(2%2°2)/(1-272)))-6((5*275)/(1-225)+(10%*2710)/(1-2"10))

Input:
1+6[

2 2x2? 5x2° 10x2%9
+ -B +
1-2 1-22 A [

Exact result:

21833
341

Decimal approximation:

64.026302001870832844574780058065102630206187683284457478005. .
64.026392961876..... (C)
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For x =2, we obtain:

146((2°2/(1-272)+H25274)/(1-274)))-6((5*2710)/(1-2710)+(10%2/20)/(1-220))

Input:

o2 2x24] [szm 10 2%

1+6 + +
[1—22 1.F 121 “a.ig

Exact result:

Q81877
13981

Decimal approximation:

70.22938273371003504756455189185322938273371003504756455189...
70.2293827337..... (D)

These are the four results that we have obtained:

59.2857142857.... (A)

67.989010 (B)

64.026392961876..... (C)

70.2293827337..... (D)
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From the sum of the first four results, dividing by (123+29+7), that are Lucas
numbers, we obtain;

(59.2857142857 + 67.989010 + 64.026392961876 +70.2293827337)/(123+29+7)

Input interpretation:
59.2857142857 + 67.989010 + 64.026392961876 + 70.2293827337

123 +29+7

Result:

1.644845911831924528301886792452830188679245283018867924528...

Repeating decimal:
1.6448450118310245283018867 (period 13)

2
1.6448559118319.... = {(2) == = 1.644934 ...

And:

(59.2857142857 + 67.989010 + 64.026392961876 +70.2293827337)/(123+29+7+3)

Input interpretation:
59.2857142857 + 67.989010 + 64.026392961876 + 70.2293827337

123 +29+7+3

Result:
1.614385802353555555555555555555555555555555555555555555555.

Repeating decimal:
1.6143858023535 (period 1)

1.6143858023535

And also:

(59.2857142857 + 67.989010 + 64.026392961876 +70.2293827337)"1/11

Input interpretation:
'V 59.2857142857 + 67.989010 + 64.026392961876 + 70.2293827337
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Result:

1.658726406...
1.658726406.... is very near to the 14th root of the following Ramanujan’s class

invariant Q = (Gsos/G101 ,5)3 =1164,2696 i.e. 1,65578...

We have that:

For x =2, we obtain:

1HA((2/(1-2)H2*2/2)/(1-2°2)H(3%273)/(1-273)))-4((7*27T)/(1-27T)+(14*2714)/(1 -
2714))

Input:

1+4

2 2 %22 3x23] 4[?x2? 147.214]
+ + = +
1-2 1-22 1-28 ;R T

Exact result:
2020027

38227

Decimal approximation:
52.84293823737149135427838961990216339236665184293823737149 ..

52.84293823737....
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1H4((272/(1-272)H25274)/(1-274)))-4((T527 14)/(1-2/14)+(14%2728)/(1-2/28))

Input:

22 224 7x21% 14427
1+4 -

+ +
y L el [, T i gt

Exact result:
1273011169

17895697
Decimal approximation:

71.13504263063908603280442220272281096399877579509755892715...
71.135042630639....

We have that:

1+3[

2 zxzz] B[szg 13><2“‘]

+ +
1-2 1-22 ; L [

Exact result:
660727

9709
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Decimal approximation:
68.05304356782366876094345452672777834998455041713873725409. ..

68.0530435678236....

From the sum of these seven results, we obtain:

59.2857142857 + 67.989010 + 64.026392961876 +70.2293827337+52.84293823737
+71.135042630639+68.0530435678236

Input interpretation:
50.2857142857 + 67.989010 + 64.026392961876 + 70.2293827337 +
52.84293823737 + 71.135042630639 + 68.0530435678236

Result:
453.5615244171086

453.5615244171086

(59.2857142857 + 67.989010 + 64.026392961876
+70.2293827337+52.84293823737 +71.135042630639+68.0530435678236)+29+11

Where 29 and 11 are Lucas numbers
Input interpretation:

(59.2857142857 + 67.989010 + 64.026392961876 + 70.2293827337 +
52.84293823737 + 71.135042630639 + 68.0530435678236) + 29 + 11

Result:
403.5615244171086

493.5615244171086 result practically equal to the rest mass of Kaon meson 493.677

We obtain also:

493.5615244171086/4+2

Input interpretation:
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493.5615244171086
4

+

Result:
125.39038110427715

125.39038110427715 result very near to the dilaton mass calculated as a type of
Higgs boson: 125 GeV for T = 0 and to the Higgs boson mass 125.18

And:

(493.5615244171086/4)+2+11+Pi
Where 2 and 11 are Lucas numbers
Input interpretation:

403.5615244171086
4

+2+11 +=x

Result:
139.5319737578660. .

139.5319737578669... result practically equal to the rest mass of Pion meson 139.57

Alternative representations:

403.56152441710860000 493,56152441710860000
+2+11l+7x=13+180"+
4 4
4093.56152441710860000 403.56152441710860000
+2+11+m=13-ilog(-1)+
4 4
493.56152441710860000 403,56152441710860000

P ST o (SR [ T el 00
P 4

Series representations:

403.56152441710860000 o
+2+11+7=136.30038110427715000 + 4 L
4 i 1+2k
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Ek

(%)

493.56152441710860000
4

+2+ 11 +7=13439038110427715000 + 2 Z
k=1

493.56152441710860000
4

+2+1l+rm=

@ 2% _6+50k)
136.39038110427715000 + 2‘ i S’

= )

Integral representations:

493.56152441710860000 w1
+2+11l+r= 135.39G3811D42??15DDG+EJ dt
4 0 1+t
403.56152441710860000 "1 3
3 +2+1l+m= 135.39D3811D42??15DDD+4J V1-£ dt
0
493.56152441710860000 “o0 SIN(E)
A +2+11 +x=136.39038110427715000 + 2 J ; dt
0

(493.5615244171086)*4-199-47
Where 4, 199 and 47 are Lucas numbers

Input interpretation:
493.5615244171086 ~ 4 — 199 — 47

Result:
1728.2460976684344

1728.2460976684344

This result is very near to the mass of candidate glueball fy(1710) meson.
Furthermore, 1728 occurs in the algebraic formula for the j-invariant of an elliptic
curve. As a consequence, it is sometimes called a Zagier as a pun on the Gross—
Zagier theorem. The number 1728 is one less than the Hardy—Ramanujan number

1729

Repeating decimal:
1728.2460976684344
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(493.5615244171086)*4-199+7
Where 7 is a Lucas number

Input interpretation:
493.5615244171086 «4 - 199 + 7

Result:
1782.2460976684344

1782.2460976684344 result in the range of the hypothetical mass of Gluino (gluino =
1785.16 GeV).

Repeating decimal:
1782.2460976684344

We note that:

((((493.5615244171086)*4-199+7))) - ((((493.5615244171086)*4-199-47)))

Input interpretation:
(493.5615244171086 - 4 - 199 + 7) - (493.5615244171086 - 4 - 199 - 47)

Result:
54

54

(59.2857142857 + 67.989010 + 64.026392961876
+70.2293827337+52.84293823737 +71.135042630639+68.0530435678236)/7-
1/golden ratio

Where 7 is a Lucas number

Input interpretation:
1
- (59.2857142857 + 67.989010 + 64.026392961876 + 70.2293827337 +

1
52.84203823737 + 71.135042630639 + 68.0530435678236) - 5
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# iz the golden ratio

Result:
64.1764605. .

64.1764695...

Alternative representations:

1
= (59.28571428570000 + 67.989 + 64.0263929618760000 +

70.22938273370000 +52.842938237370000 + 71.1350426306390000 +
1  453.562 1
68.05304356782360000) -

& 7 2sin549)

1
= (59.28571428570000 + 67.989 + 64.0263929618760000 +

70.22938273370000 +52.842938237370000 + 71.1350426306390000 +
1 453.562 1
68.05304356782360000) -

& 7 2cosi2169

1
= (59.28571428570000 + 67.989 + 64.0263929618760000 +

70.22938273370000 +52.842938237370000 + 71.1350426306390000 +
1 453.562 1
68.05304356782360000) -

& 7 2sin666°

(59.2857142857 + 67.989010 + 64.026392961876
+70.2293827337+52.84293823737 +71.135042630639+68.0530435678236)/7+2-¢

Input interpretation:
1
- (59.2857142857 + 67.989010 + 64.026392961876 + 70.2293827337 +

52.84203823737 + 71.135042630639 + 68.0530435678236) +2 — ¢

Result:
64.0762217...

64.0762217...

Alternative representation:
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1
= (509.28571428570000 + 67.989 + 64.0263929618760000 +

J0.22938273370000 +52.842938237370000 +
71.1350426306390000 + 68.05304356782360000)+2 - ¢ =

1
7 (59.28571428570000 + 67.989 + 64.0263929618760000 +

70.22938273370000 + 52.842938237370000 + 71.1350426306390000 +
68.05304356782360000) + 2 - expiz) fo

Series representations:

1
= (59.28571428570000 + 67.989 + 64.0263929618760000 +
70.22938273370000 + 52.842938237370000 + 71.1350426306390000 +

et
B68.053043567823600001+2 —¢ = 66.7045 — 2‘ I;
k=0

1
= (59.28571428570000 + 67.989 + 64.0263929618760000 +

70.22938273370000 + 52.842938237370000 + 71.1350426306390000 +

—_ 1+k
B68.05304356782360000)+2 —¢ = 63.7045 + 2‘ 3 +k -
(2 +K)!

k=0

1
= (59.28571428570000 + 67.989 + 64.0263929618760000 +
70.22938273370000 +52.842938237370000 + 71.1350426306390000 +

a0 =l4k4z
Ek:ﬂ k1
BB.053043567823600001+ 2 —¢ = 00.7045 - —
=

(59.2857142857 + 67.989010 + 64.026392961876
+70.2293827337+52.84293823737 +71.135042630639+68.0530435678236)/8-¢

Input interpretation:
1
g (59:2857142857 + 67.989010 + 64.026392961876 + 70.2293827337 +
52.84293823737 + 71.135042630639 + 68.0530435678236) — ¢

Result:

53.9769087...

53.9769087...
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Alternative representation:

1
3 (59.28571428570000 + 67.989 + 64.0263929618760000 +

70.22938273370000 +52.842938237370000 +
71.1350426306390000 + 68.05304356782360000) —¢ =

1
P (59.28571428570000 + 67.989 + 64.0263929618760000 +

70.22938273370000 +52.842938237370000 +
71.1350426306390000 + 68.05304356782360000) - expiz) fo

Series representations:

1
8 (59.28571428570000 + 67.989 + 64.0263929618760000 +
70.22938273370000 + 52.842938237370000 + 71.1350426306390000 +

i |
68.05304356782360000) - ¢ = 56.6052 - L .f;
k=0

1
P (59.28571428570000 + 67.989 + 64.0263929618760000 +

70.22938273370000 + 52.842938237370000 + 71.1350426306390000 +

— 1+k
B68.05304356782360000) - ¢ = 53.6052 + L 3 +k 1
(3 +K)!

k=0

1
3 (59.28571428570000 + 67.989 + 64.0263929618760000 +

70.22938273370000 + 52.842938237370000 + 71.1350426306390000 +

a0 =l+k4z
Zi-o k!

il

68.05304356782360000) — ¢ = 56.6952 -

(((59.2857142 + 67.989010 + 64.02639296 +70.2293827+52.8429382
+71.13504263+68.053043567)/7+2-¢)) - (((59.285714 + 67.989010 + 64.0263929
+70.229382+52.842938 +71.1350426+68.0530435)/8-¢ ))
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Input interpretation:
1
(E’ (59.2857142 + 67.989010 + 64.02639296 + 70.2293827 +

52.8429382 + 71.13504263 + 68.053043567) + 2 - c] =

1
[é (59.285714 + 67.989010 + 64.0263929 + 70.229382 +

52.842938 + 71.1350426 + 68.0530435) - r]

Result:
10.09931300028571428571428571428571428571428571428571428571 ...

10.09931309028... result practically equal to the dimensions number of superstrings,
that is 10

Repeating decimal:
10.099313090285714 (period &)

Alternative representation:
1
(a (50.2857 + 67.080 + 64.0264 + 70.2204 4+

52.8429 + 71.135 + 68.0530435670000) + 2 — t‘} -
1
[é (59.2857 + 67.989 + 64.0264 + 70.2294 + 52.8429 + 71.135 + 68.053) - e] =

1
(E" (59.2857 + 67.089 + 64.0264 + 70.2294 +52.8420 +

71.135 + 68.0530435670000) + 2 - Exp[z}J =

1
[5 (59.2857 + 67.989 + 64.0264 +70.2204 + 52.8429 + 71.135 + 68.053) -

Exp[z}] ) l
= " LM
B sl g+ Ehrse) =60 T e

= Jf}‘f’ﬂ-r—)--t:i.;;}‘i-xj j‘.g-.-t‘)' + 128

f=3.024406288¢e-13 and x =2

[sqrt((((3.024406288e-13)M 2*(-2)+22*2%(3.024406288e-13 ) 6*(-2)*
(3.024406288¢-13)"6*(-215)+125%2/2%(3.024406288¢-13)" 1 2% (-

275))))*1/(((3.024406288e-13%(-2)* 3.024406288e-13*(-25))))]
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Input interpretation:
|/ ((3.024406288 - 107%)'% . (~2) + 22 - 2 (3.024406288 - 1077 (-2)

: b (=27)+ : i 27}
3.024406288 - 107%)® (-2°) + 125 27 (3.024406288 - 107%)"? (-2°)
1

3.024406288 - 107'% »(-2)« 3.024406288 - 1071 (-2°)

Result:
1.50119494 = 107°° ;

Polar coordinates:
r=150119x107"

1.50119%10™°

# = 90°

L]

From this result, we obtain also:
1/(csc(372/26))((((1.50119%x107-50)/sqrt(-(-2122.1867)))))
Where -2122.1867 is a value of Ramanujan mock theta function

Input interpretation:
1 1.50119 107

24 f
ese(X) -(-2122.1867)

cacix) is the cosecant function

Result:
1.10562... x 1072

1.10562...¥10™° result practically equal to the value of the Cosmological Constant

From which, we obtain also:
1/(csc(x)) = (1.10561795398627*107-52)/((((1.50119%x107-50)/sqrt(-(-2122.1867)))))

Input interpretation:
1 1.10561795398627 - 10>

C5CiX) 150112 1020

y —-2122.1867)

cacix) is the cosecant function
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Result:
sinix) = 0.339282

Plot:

1.0 |

= sinx)

— 0.33

¥

=
£0

Lo

Alternate form:

1 .. 1 .
—je 'Y - —i¢' " =0.339282
2 2

Solutions:
x=6.28319n+0.346154, neZ

x=0.28319n+2.79544, ne &

2.79544 +6.28319 n

Input interpretation:
2.79544 + 6.28319 n

Plot:

(n from =0.7to 0.7)

0.2 04 06
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Values:
n 1 2 3 4 5

6.28319n+2.79544 9.07863 15.3618 21.645 27.9282 34.2114

Geometric figure:

line

Alternate forms:

6.28319 in + 0.444908)
0.00001 (628 319 n + 279 544)

Root:
n = —0.444908

For 3<n<4,i.e. 21.645 and 27.9282, we have:
2.79544 + 6.28319 *3.6938

Input interpretation:
2.79544 + 6.28319 - 3.6038

Result:
26.004287222

26.004287222 = 26 that is the dimensions number of bosonic strings

Or:

1/(ese(372/x)) = (1.10561795398627*107-52)/((((1.50119x 107-50)/sqrt(~(-
2122.1867)))))

Input interpretation:
1 1.10561795398627 - 10>

2 o =50
=]
X

y —(-2122.1867)

cacix) is the cosecant function

Result:

sin[g] =0.339282
X
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Plot:

—_ 5i|'|:'i:|

—

— 0.339282

Alternate forms:

1 i, 1 o
: ie Px _ = ie® ™ — 0.330282

sin&](z CDS(§J+ 1](2 cns[g] . 1] ~ 0.339282

in®(1 )+ 9sin £ cos® £ - sasin - )ost( )

X X X X X

. 5(1 afl . 21 af X

126 sin (;Jcns (;]—3& gin (;Jcns [J_c]z 0.3390282
Solutions: 0
X~ 6.28319n+0.346154 °

9

X = , hef

5.28319 n + 2.79544
9/(0.346154 + 6.28319 n)

Input interpretation:

0.346154 + 6.28319n
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Plots:

|.':-§I.H

10 | \
" (nfrom -1.1to 1)

T n
T35 | 0.5 1.0
5
%10 |

15|

1 \
[ (n from -6.2to 6.1)

Values:

n 1 2 3 4
9 1.3576 0.696997 0.468854 0.353233
(6.28319 n +

0.346154)

Alternate forms:
1.43230

n+0.0550921

1.43239
n+0.0550921

Alternate form assuming n is real:
9

0
6.28310 n + 0.346154

Series expansion at n = (:
26.-471.937 n + 8566.33 n® - 155491. n® +2.82239 x 10% n* + O(n°)

(Taylor series)

Series expansion at n = oo:
1.43239 0.0789135 0.00434751 0.000239513 D[[l]E]
= + = +

n n- n’ n*

n

[Laurent series)
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Derivative:
d [ 9 J 1.43239

dn\6.28319 n +0.346154) (n+0.05509217

Indefinite integral:

. Q "
| ——— 1.43239 log(6.28319 n + 0.346154)

[assuming a complex-valued logarithm)

Limit:
, Q
lim =
n-xeo (1.346154 + 65.28319 n

Series representations:
g —
0.346154 +6.28319n

v=

9
0.346154 + 6.28319n

w=0

Note that from the following Taylor series:

26.-471.937 n + 8566.33 n® - 155491. n* + 2.82239 x 10° n* + O(n°)

(Taylor series)

There is the value of incognita of the above expression: 26

From the solution 64.026392961876..... (C), we obtain:

64.026392961876x = 1.50119x10"-50

Input interpretation:
64.026392961876 x = 1.50119 - 10"

67
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Result:
64.026392961876 x = 1.50119x107>°

Plot:
B0 |
40 |

20 |

1.0 0.5 ; 0.5 1.0
20|

40 |
il |

Alternate form:
64.026392961876 x — 1.50119% 107" = 0

Solution:

X = 2.34464 % 1072

2.34464%10™

We note that:

2.34464*107-52 *1/(sqrt((55*1og(Pi))/(11+3)))

Input interpretation:

1
2.34464 . 1072
ISS]Dg-::r]
‘J 1143
Result:

1.10562... x 1072

logix is the natural logarithm

1.10562...¥10™° result practically equal to the value of the Cosmological Constant

(1/64.026392961876)x = 1/(2.34464x10"-52)

Input interpretation:
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1 1
64.026392061876 ©  2.34464 10>

Result:
0.015618550061971 x = 4.26505 x 10"

Plot:

5 » 1051 | /

T=I0°T |

2 %105 |

-4x109  _2x1p%3 2 %1053 4x1053

%105 |
4x10% | — 0.015618559061971 x

B8 x1071 | — 426505 x 105"

Alternate form:
0.015618559061971 x - 4.26505x10°! = 0

Solution:
x = 273075580 736812440840 037 715484541712 110208 175 193 456 540

Integer solution:
x = 273075580 736812440849 937715484541 712 110 208 175 193 456 640

273075580736812440849937715484541712110208175193456640
From which, dividing by 4096'*:

1/4096"14(2730755807368124408499377154845417121102081751934566409)

Input:

o 2730755807 368 124408499377 154 845417121102081751 934566400
4009
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Exact result:
2730755807368 124408400377 154845417 121102081 751934 566400

374144419156711 147060 143317175368 453031918 731001856

Decimal approximation:
7298.667753812844694039085879921913146972656250000000024054...

7298.66775381...

1/3((((1/4096"14(273075580736812440849937715484541712110208175193456640
I)+21

Input:

1[ 1
3 \4p9614
2730755807368 124408 499 377 154845417 121102081751 934566 409]

+

21

Exact result:
2754 3260057749097 210764 166 183827465 333643002631 987 683 337

1122433257470 133441180429951526 105359 095 756 193 005 568

Decimal approximation:
2453.889251270948231346361959973971048990885416666666674684...

2453.88925127... result practically equal to the rest mass of charmed Sigma baryon
2453.98

In(2730755807368124408499377154845417121102081751934566409)

Input:
log(2 730755807 368 124408499377 154845417 121102081751 934566 409)

logix is the natural logarithm

Decimal approximation:
125.3441734450745459023619859912938649194496662509238375659...

125.344173445... result very near to the dilaton mass calculated as a type of Higgs
boson: 125 GeV for T =0 and to the Higgs boson mass 125.18
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Property:
log(2 730755807368 124 408400377 154845417 121102081751 934566 409)
is a transcendental number

Alternative representations:

log(2 730755807 368 124 408499 377 154845417 121102081751 934566 409) =
log,.(2730755 807 368 124408499377 154 845417121 102081 751934566 409)

logi2 730755807368 124 408490377 154845417 121 102081 751934566 409) =
logia)
log (2730755807 368124408 499377 154845417 121102081 751 934566 409)

log(2 730 755807 368 124 408499377 154845417 121 102081751 934566 409) =
-Li1(-2730755 807368 124408499 377 154 845417121 102081 751 934566 408)

Integral representations:

log(2 730755807 368 124 408499377 154845417 121102081 751934566 409) =
[2 730755 807368 124408 400377 154845 417121 102081 751934566400 1
—dt

1

log(2 730755807 368 124 408499 377 154845417 121 102081 751934566 409) =

i i sty 1

El’ —i oa+y Il -s)
2730755 ED?BEE 124408490377 154845417 121102081 751934566
408~ r(-s) (1 +s)ds for

In(2730755807368124408499377154845417121102081751934566409)+11+P1
Input:
logi2 730755807 368 124 408499 377 154845417 121 102081751 934566 409) +

11+

log(x) is the natural logarithm

Decimal approximation:
139.4857660986643391408246293745733678036468356502080433860. ..

139.485766098... result practically equal to the rest mass of Pion meson 139.57
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Alternative representations:
log(2 730 755807 368 124 408499 377 154845417 121 102081 751 934566 409) +

1l+m=11+a+

log, (2730755807368 124408 499377 154845417 121102081751934566 409)

log(2 730 755807368 124 408490377 154845417 121102081 751934566 409) +
11+7=11+x+logia) loggi

2730755807368 124408499377 154845417 121102081 751934566 409)

logi2 730755807368 124 408490377 154845417 121102081 751934566 409) +
ll+a=11+a-

Li1(-2730755807 368 124408 499377 154845417 121102081751 934566 408)

Series representations:
log(2 730 755807 368 124 408499 377 154845417 121 102081 751 934 566 409) +

11l+m=11+m+

log(2 730755807368 124408 499377 154845417 121102081 751 934566 408) -

1 }k
i
2‘[ 2730 755807368 124 408400377154 845417 121102 081751 934566 408

k=1 k

log(2 730755807 368 124 408 499377 154845417 121102081751 934 566 409) +
1
11+x=11 +}T+21}T{2—ﬂrg[

i

2730755807368 124408 499377 154845417 121 102081751 934566 -

[is]
]
4D9—x}J logix)— ¥ —(-1)F
+logix) g;k
(2730 755807 368 124408490 377 154845417121 102081 751 934566
k&
409 -x) x for 0

log(2 730755807 368 124 408499 377 154845417 121102 081751934566 409) +

;r—'lrg[i)—arg[zn} @ q L
11+x=11 2 logizg)— » —i(-1)
+ T + M+ m 2;1- T+ Clg Z'|:| Z‘ k
k=1
(2730755807368 124408 400377154845417 121102081751 934566 400

— g i z,ﬁk

Integral representations:

log(2 730755807 368 124 408499 377 154845417 121102081 751934566 409) +

"2 730 755 807 368 124 408400 377154 845417 121 102081751 934566 400 ]
ll+}r=ll+}r+[ Edt
o]
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log(2 730755807 368 124 408 499 377 154845417 121102081751 934566 409) +

i i sa4y 1
11+.=r=11+:r——f
2-’1’ —fm+}- l"{l—.i}

2730755807368 124408 499377 154845417 121 102081751 934566 -
408~ (-5’ (1 +8)ds for-1<y <0

f=3.024406288¢e-13 and x =2

((((((((3.024406288¢-13)"8*(-2)+13%2%(3.024406288e-13)"4*(-2)*(3.024406288¢-
13)7M*(-277)+49%2/2%(3.024406288e-13)"8*(-2/7))))/((((3.024406288e-13)*(-2)*
(3.024406288¢-13)*(-2°7)))))))(2/3)

Input interpretation:
(((3.024406288 - 107)®  (-2)+ 13 2(3.024406288 - 107 °)* . (-2)
(3.024406288 - 107 °|* (-27) + 49 . 2 (3.024406288 - 107%)° (-27))/
(3.024406288 - 107"° « (-2 3.024406288 - 107 "? (-27)))*®

Result:
- 7.24075099... x 107" +
1.25413486... x 107% §

Polar coordinates:
r=1.44815%x10"% (radius), 8= 120° (angle}

(1412 H2*2/2)(1-2°2)+(3*273)/(1-273))-4((T*27T)/(1 -
2AT)H(14%2814)/(1-2714)))))x = 1.44815% 10749

Input interpretation:
{1 i 2 2x22 3«23 i 7x27 14x2!
+ + + - +
1-2 4.2 9 | s WO D

]]x = 1.44815 - 107%*
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Result:

2020027 x _ap
— = 1.44815= 10
38227
Plot:
4[]5
:ilf:lg
)
1.0 0.5 t 0.5 1.0
zuf
/ -mf "~ Wi
P j — 1.44815» 1042

Alternate form:

2020027 x _ao
— - 1.44B15x10 7 =10
38227

Solution:
x = 2.74048 x 107!

2.74048%107!
1/3(((1/4096 1 3(((1/(2.74048%107-51)))))))-11+1/golden ratio

Input interpretation:

1 1 1 1
— [ ] -11+-
3 40961 2.74048 - 107°! i

#is the golden ratio

Result:
1923000

1321.21... result practically equal to the rest mass of Xi baryon 1321.71

1/29(((1/4096”13(((1/(2.74048% 107-51)))))))-11-golden ratio

Input interpretation:
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1[ 1 1 ] T
29 140961  2.74048 - 107°!
# iz the golden ratio
Result:
125.133...

125.133... result very near to the dilaton mass calculated as a type of Higgs boson:
125 GeV for T =0 and to the Higgs boson mass 125.18

1/29(((1/4096™13(((1/(2.74048%10~-51)))))))+golden ratio

Input interpretation:

1 [ 1 1 ] p
— +
29 L4006 2.74048 107!

# iz the golden ratio

Result:
139.369...

139.369... result practically equal to the rest mass of Pion meson 139.57

We have also that:

Tx ¢ - S N % | e L ]
fee s (5= ‘_‘l_-rl-...J . !711_1(‘,‘53.'3
e < -+ / %
A, f-ra-'-‘?“f‘“fL |
S Ty U s ki)
W= e fes? S L LR E
! _‘- ¥ abs al 'n g PR g § e TS 1

f=3.024406288¢e-13 and x =2

((((3.024406288¢-13)°6(2)3))) / ((((3.024406288e-13)"2(-2)*(3.024406288e-
13)"2(-2)"9)))

[((((3.024406288e-13)76*(-2)+9(2)*(3.024406288e-13)3*(-2)*(3.024406288e-
13)73%(-2)"9+27%(-2)"2%(3.024406288e-13)6*(-2) )] 1/3

Input interpretation:
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((3.024406288 - 107) - (-2) +
92 (3.024406288 - 107%)* . (-2)(3.024406288 - 1077)* (-2)° +
27 (-2 (3.024406288 - 1077 )° (-2)°) ~ (1/3)

Result:
1.52215522.. = 10724 4+
2.63645018... x 10724 ;

Polar coordinates:
r = 3.04431x107%% (radius), 8= 60° (angle

3.04431*%10%

From which:

((((3.024406288e-13)°6(-2)3))) / ((((3.024406288e-13)"2(-2)*(3.024406288e-
13)2(-2)"9))) *(((3.04431x10/-24)))

Input interpretation:
(3.024406288 - 10713)5 (-2)°

3.04431 107%*
(3.024406288 - 1072 »(-2)(3.024406288 - 1072)? (-2)°

Result:
~2.1755004089382474427038 = 103!

-2.1755004089382474427038*10™" final result

From which, we obtain also:

L(Pi/((47+7)In(Pi)))*((((3.024406288e-13)"6(-2)"3))) / ((((3.024406288¢-13)"2(-
2)%(3.024406288¢-13)"2(-2)9))) *(((3.04431x10"-24)))

Input interpretation:

T
47 + 7y logim)
(3.024406288 - 1071%)5 (-2)°

3.04431 107
(3.024406288 - 10713)? ».(-2)(3.024406288 - 107 (-2)°

logix is the natural logarithm
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Result:

1.10564... % 10722

1.10564...¥10™° result practically equal to the value of Cosmological Constant
1.1056 * 107

Further, we have that:

68.0530435678236 = ((((3.024406288e-13)"6(-2)"3))) / ((((3.024406288¢-13)"2(-
2)%(3.024406288¢-13)2(-2)"9))) *(((3.04431x10"-24)))

Input interpretation:
68.0530435678236 x =
(3.024406288 - 1071%)% (-2)?

S ©3.04431 1g~2*
(3.024406288 - 107'%)* . (-2)(3.024406288 - 10713)? (-2)
Result:
68.0530435678236 x = -2.1755 x 1071
Plot:
iﬁ[];
40 |
20 |
0.5 1.0
= 53.0530435678236
— -2.1755x107"

Alternate form:
68.0530435678236 x + 2.1755x 107! = 0
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Solution:
x=-3.19677x 10733

-3.19677%10™°

From which:
-(-3.19677%x10"-53)*(2/3*(Pi!-2))

Input interpretation:

2
~(-3.19677 - 107} [5 (! — 2}]
n! is the factorial function

Result:
1.10567... » 10732

1.10567...¥10™° result practically equal to the value of the Cosmological Constant
1.1056 * 107
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